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STATISTICAL INFERENCE 1 L

,SECTION-A 10 Marks L

Answer ALL questions -

ALL questlons carry EQUAL marks O (10x1= 10).‘ S

Estrmate and estlmator are

._-(1) ‘Synonyms ' ,‘ (n) dIfferent R
c _(111) related to populat1on B (Iv) none of the above o

~ The estImator Z of populauon mean IS

- :(1) an unblased estlmator - (n) a con51stent estlmator
. (iii) both (Iv) and (11) Rt (Iv) nelther (1) nor (n)

o f“Factorlsatlon theorem for sufﬁCIency 1s known as - : ,
() Rao-Blackwell theorem _' | (i) ¢ Crammer—Rao theorem R
S Chapman Rabms theorem - (Iv) Flsher-Neyman theorem T

‘,BIaS of an estlmatlor can be - B e
D positive - RTINS '(11)' negative - '_,- PR
. ;.(111) either posmve or negatlve ' (Iv) always zero :

_'Mlmmum chi square estlmators are ?i ol _

" (i) conmsistent - . - - ) asymptotically normal S

¥ "(111) efﬁclentz“ S (IV) All the above R

’ 7‘"Formula for. conﬁdence Interval for the ratio of two normal populatlon mvolves -
* (i) chi-square distribution. " (i) F- dlstnbutlon | -

- (i) t- dlstrlbutron s | C ) none of the above .

- A conﬁdence mterval of conﬁdence coefﬁcrent (1 -a) 1S best whlch
@) ‘smallest wrdth :

- (ii) vastest width - : :

- (iid) upper and lower limits’ equIdIstant from the parameter

- (iv) one srded conﬁdence Interval -

; Wllcoxon s SIgned rank teSt cons1ders the dlfferences (X Mo) by way of

o @) signsonly © (id) magnitudes only o

'(11) signs. and magnltudes both (lV) All the above f

. .Mann-WhItney test statrstlc U depends on the fact that : :
o .'(1) how. many times Y’s precede X s (n) how many tn“nes X’s precede Y s

(111) both (Iv) and (11) RO (IV) none of the above o

. The credrt of 1nvent1ng the method of moments for estlmatmg the parameters goes to e
51"(1) RAFlsher LI (n)JNeyman T
(D). Laplace . EETREE (Iv) Karl Pearson Sl

v,_rCon:t.,".’» o



o 11 a »State and prove that 1nvar1ance property of consrstent estrmators

' SECTION - B (35 Marks)
AU Answer ALL Questions - BN
o ALL Questlons Carry EQUAL Marks (5 X 7 35)

OR

_,’.‘If Xl, Xz, X3, X‘ are random’ observatlons ona Bernoulh varlate X taklng the o o
. value - 1. with probabrhty P and the “value 0 w1th probablhty 1= p) prove that :

L zx, (1 Ix i)1s acons1stent esnmator of p(l p)

O > g:" 12 o Let Xl, X2, X3;...; Xp'be a random sample from a umform populatlon on, [O 0] Fmd

o ;sufﬁment esttmator for 6.

 OR

| Let X1, Xz, X3, X be a random sample from unlform U [0 9] 6 >0 populatlon

1<isn’

s Show that T“ max (x,) x(n) isa complete sufﬁcrent statlstlcs for 6.

'DlSCllSS the conﬁdence hmlts and. conﬁdence mtervals [

Wnte the propertres of Maxnnum leehhood Estlmators
- - OR~ : :

b ‘;-Descrlbe the method of moments for estlmators

OR .

b ’,»leven one: observatron from a populatlon w1th p. d £ f(x 9) — (9 ~0,0< xuS o, LT
© -+ Obtain 100(1- @)% confidence 1ntervals for 0 '- T

S 15 I;,Descrlbe the Procedure of run test.

~OR

b Descrlbe the procedure of medlan test

. SECTION-C (30Marks) =~
- Answer any THREE Questions -~~~ :
ALL Questrons Carry EQUAL Marks (3 x 10= 30)

fState and prove that Cramer-Rao mequahty
. State and prove that Rao Blackwell theorem
| 'Descrlbe the modlﬁed mmlmum chr-square method

'.,v"-jObtarn 100(1 a')% conﬁdence mtervals for the parameter ((1) 6 and (b) cr of normal";'_ .

dlstrlbutlon

f(x a ‘\/__Tzexp ‘2'__07-_,_ » .
erte brleﬂy the procedure of 51gn test’ and give 1ts advantages : o



